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FHAERT 89 103 104 207 | F FHET 203 179 170 349|FkET— T H 324 276 199 A75 | KT 276 314 325 639
ARYHT 188 169 199 368 AT 12,4200 11,520 12,434| 23, 954|%kHT T H 177 158 129 287 | K HERT 693 832 904/ 1,736
JEHT 430 383 455 838 FERT=TH 120 137 140 277 KIEHX 3,747| 4,290 4,468 8,758
T 753 762 777 1, 539 |l ERT 237 246 260 506|#kET Y T H 66 39 50 89
b BHT 386 378 395 773 | 3,849 3,869 3,926/ 7,795 IN4RHHX 10,055 10,020 9,839 19, 859|Fa] A HtHT 382 468 458 926
T 261 226 211 437 |Figfar BT 184 196 232 428 BT 260 331 366 697
B9l 113 109 113 222 HHHT 479 479 452 931 [Hr R mT 1,268 1,506/ 1,478 2, 9844k LT — T H 488 489 518/ 1,007
KAGHT 627 564 562 1, 126|7LAHT 3,732 3,875 4,037 7, 912|%{R M PR 347 381 410 791 |4 ILIET Z T H 228 223 256 479
BT 16 10 12 22| FLRmT 3,521 3,572 3,651  7,223|H)BHT 1,678 1,670 1,815 3, 485|fR/NEHET 604 652 662 1,314
E= 201 53 45 52 97| :E HRMT 625 616 622 1, 238| H T 1,170, 1,350 1,303 2, 653| L4 HT 1,599 1,889 2,031 3,920
Fn T 210 204 242 446 | i BT 1,364 1,454 1, 540 2,994 HrEnBHIX 4,463 4,907 5,006 9,913 I /\iEHHX 3,561 4,052 4,291 8, 343
Aeimmy 104 67 69 136 KA 162 149 173 322
JUTREHT 183 195 222 417| HERT 331 398 450 848 | -2 HT 3,013) 2,922 3,214 6, 1364 shkHT 441 461 500 961
LI 126 96 85 181 HRIT— T H 371 383 396 TT9| K\ AKHT 1, 264 1,300 1,256 2, 5565k HT 301 346 338 684
AT 64 58 63 121 ERIT =T H 505 526 498 1, 024)/INJ\AKHT 1,313 1,431 1,439) 2, 870|%& HrHHT 720 756 793 1,549
THRIHET— T H 151 154 139 293 EIRIT="TH 504 549 546/ 1, 095|E@LFHT 476 547 570 1, 17| ELET 236 283 290 573
TRIEET =T H 119 136 122 258| HERATIY T H 322 331 392 723|MERTPE— T H 53 47 28 75| K T 1,199 1,354 1,420 2,774
THRIEET=TH 111 107 108 215 ZFRHX 16,186 16,643 17,175 33, 818|M=MIH — T H 118 106 97 203 | BT 747 887 914/ 1,801
TATHETY T A 142 152 161 313 R —TH 323 218 317 535( s thX 3, 644 4, 087 4, 255 8, 342
TRIHETE T H 79 62 17 79|41 JE T 3,788/ 3,857 4,055  7,912(MEET T H 33 35 33 68
HEFAmT 440 398 468 866/ /1 [HT— T H 277 317 355 672|[EIT=TH 25 10 23 33| A BFHT 5,752 6, 101 6,282 12,383
FI4RAT 21 16 17 33| I T H 593 592 649 1, 241 (BZHETY T H 124 128 112 240 = JLRT 210 266 284 550
TTHT 176 170 196 366 7 @HT =T H 894 866 939, 1, 805|ULpiHT 1,954) 2,034 2,147 4,181 AREEFHIX 5,962| 6,367 6,566 12,933
AT 30 21 24 45|32 mT 1,601 1,602 1,703 3,305  HIIHIX 8, 696 8,778 9,236 18,014
AT 178 142 174 316/ FeHfHAT 1,463 1,413 1,508 2,921 PN/ 395 398 457 855
ENINTE 506 468 522 990 | 52 17 T 187 180 184 364 (4 F-IRmT 469 411 559 9703t A BT 550 634 648 1,282
YRR 25 17 23 40|\ TARET—T°H 504 479 484 963 | Fl HT 2,342 2,331 2,379 4, T10| J= BT 650 774 741 1,515
T 71 60 65 125 )\ FARET =T H 376 332 385 TI7| TR T 239 297 320 61774 5 mT 155 157 151 308
HEAHT 42 42 49 INTFARET=TH 504 523 541 1, 064 5 T 966 960 997 1, 957 |#KJ5UHT 644 744 764, 1,508
[T 371 280 343 623\ THRHETIN T H 383 396 452 848 |HRERHT 540 623 622 1, 245| %% HT 379 402 385 787
=1 156 149 169 318|  Frf X 10,570/ 10,557 11,255 21, 812|HJE=HT 385 393 453 8467t [ 44 i 557 657 665 1,322
ST 2L 598 575 609 1,184 NS0 2,395 2,708 2,792 5500 I EHIX 3,330 3,766 3,811 7,577
LAl 25 28 25 53| EVCBRHT 2,402) 2,503 2,638 5, 141[#5HAT 156 202 204 406
# LT 505 484 538 1,022 BFFENRT 42 41 47 88| J\ifEHlX 7,492 7,925 8,326 16,251 | kyiEHT 281 357 364 721
AT 24 30 27 57| L JERET 3,703 3,717 3,758 7,475 TR THT 159 189 200 389
RS RLET 195 170 168 338 AL HERT 350 356 418 774 & FA Ry 1,274 1,381 1,401 2, 782 T 7 HIAT 173 215 220 435
JEHT 157 153 152 305 2HT 696 697 699 1,396 T T 1,929 2,080 2,146 4, 226| FiEHT 434 510 519/ 1,029
AT 391 353 396 T49( TP EFHT 1,427 1,724 1,702 3, 426 | i AT 809 831 909 1, 740 " T 337 441 426 867
PR 19 18 19 37| T ZIRHAT 1,749 1,984 1,956 3, 940| AL A RHET 471 445 506 951 | VE A FMT 418 499 455 954
A AR HT 1,604 1, 580 1,705 3, 285| T HEHT 1, 109 1,195 1,205 2,400( [ i X 4,483 4,737 4, 962 9, 699 [ /\ i JFUAT 395 465 497 962
R T 177 164 172 336 Hr iz PRT 403 446 439 885 i) 1 H X 2,197 2,676 2,681 5, 357
gzl 140 128 151 279(hEET— T H 585 611 624 1, 235|hHET 494 563 590 1,153
[l 166 138 157 295|TPEET T H 1,333 1,184 1,423 2, 607 |44 HimT 4717 572 585 1, 157 [ Amr = & 452 493 473 966
B oThT 186 167 221 388|PEHT =T H 625 649 702 1, 351|AtHr i my 176 192 205 397 | A BHINT HE FH 382 415 405 820
EN) 157 126 143 269|TPEETIY T H 682 672 729 1,401 |17 /78T 145 174 187 361| iR A E 177 183 190 373
JEATEAT 113 77 69 146 [ HERT 1,019 1,037 1,083 2, 120|111 #] 1,226 1, 357 1,422 2, TT9| B PNk 114 128 141 269
N 359 375 428 803 |1 FH % HHT 635 630 553 1, 183| 8T BT 383 430 487 917 | A BHINT )R 323 325 334 659
L 228 173 214 387| A HX 16,760 17,446 17,976| 35, 422| % [HE]MT 444 510 506 1,016 ApHHIX 1,448 1,544 1,543 3,087
1L FRET 106 94 97 191 Fldgmy 269 345 345 690
T 90 76 84 160 F/N 5T 814 853 905 1,758 REFHIX 3,614 4,143 4,327 8, ATO0|FEHRMT V5 I 2 717 791 856 1,647
PU 7 T 35 32 36 68| /N 488 566 614 1,180 FEYBIT 4 U 88 97 110 207
GaeLlE 41 33 39 72| LAAERT 2,948 2,898 2,686 5, 584| - KHHNAT 1,282 1, 360 1,407) 2, 767|¥E4RRTRAZ IR 278 176 164 340
FEELIT 92 81 73 154 F /N BT 2,263 2,223 2,196| 4, 419|%E KHEAT 307 368 366 T34\ FEABIT R 1, 066 1,257 1,281 2,538
HAEHT 253 253 278 531| F /T 1,465 1,491 1,489 2, 980 |4RiRrHT 720 890 910 1, 800 FEARMT HH = 440 493 514 1,007
FERAHT 335 290 305 595 | HLHHAT 1,390/ 1,379 1,431 2,810 FAJHAT 469 526 556, 1, 082| FE4RMT | 1,482 1,645 1,700/ 3,345
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FEHRMT T 828 935 992 1, 927| & HHT /M 147 184 197 381
FEYBIT 5 ] 340 444 431 875| & HHT (L1 261 293 302 595
BT 213 241 214 455| & FHT AR 509 634 612 1,246
BT 1L 158 182 203 385| & HATHI 293 329 338 667
FEYBHT )1 429 475 503 978 & H-HT 632 755 725 1, 480
FEYBIT o B 6 4 5 9| & HMT K 421 527 510, 1,037
FEYBHTFIARR 1,019 1,292 1,256) 2, 548|75 HHT % 92 119 120 239
FEHBHT A5 1,928 2,071 2,245 4, 316[FH FH-MT 31 40 40 80
FEHRHL X 8,992 10,103 10,474 20, 577| & HHTHR{R 308 373 372 745
E AT 228 181 217 398
Aty 3,820 4,470 4,657 9, 127[FH M A 36 41 41 82
JEFHHET 1,679 1,906 2,030 3,936 HMT AR 8 6 12 18
Ly 594 774 828 1, 602| HFHATZ L R 373 460 436 896
By 198 236 249 485 | H FHTERIR 47 61 62 123
Tt 13 HT 304 320 332 652 HHT A 154 173 174 347
Ky 137 156 163 319| EH T 158 196 197 393
% T FH AT 72 90 101 191| & M7/ R 360 418 425 843
S[E Sy HT 278 398 389 787 | HMT g 116 148 144 292
TG[E 5y HT 235 314 304 618| & HHTE 191 220 222 442
Je sy 418 437 434 871 | HHT /N 208 257 253 510
TorE BT 3,594 4,180 4,225 8, 405|% HHHT I jEE 582 678 686 1,364
AT 1,738 2,064 2,112 4, 176 H TR — T H 340 369 373 742
= Sl 859 1,021 1,052 2, 073|H MR T H 397 419 460 879
rhR T 1,558 1,677 1,704 3, 381|HHMTEEHE =T H 299 409 391 800
T 1,401 1,478 1,519 2,997| & HHT Ak 331 366 392 758
v ELHT 491 584 602 1, 186 & HHT T BLF 94 115 115 230
R FH AT 642 815 797 1, 612| & HHT B 128 168 146 314
JE T 562 641 676 1, 317 &I A 54 62 68 130
TG H X ,580) 21,561 22,174| 43,735 FEFHAX 10,000/ 11,552 11,740 23,292
ST 713, 5,783 6,072 11,855
IR LIRS 713, 5,783 6,072 11,855
e HET 079 1,205 1,243 2,448
P T 875 758 870/ 1,628
s T 469 524 515 1,039
e Ly 38 29 40 69
BT 34 26 38 64
R BT 404 543 552 1,095
T HELRLET 998 1,111 1,171 2,282
v L LT 736 836 888 1,724
R ELEET 031 1,147, 1,158 2,305
AGRHE] 894 1,089 1,059 2,148
T 698 794 842 1,636
FIE T 181 210 201 411
+ 3T 183 208 224 432
ERET 329 390 371 761
=Y A-RAT 99 98 104 202
AT 117 135 137 272
Hedn X 8,165 9,103 9,413/ 18,516
E T I 659 707 724 1,431
T H 1,191 1,250 1,326 2,576
EFHH] T RAR 288 323 327 650
AT AR 1,064 1,271 1,333 2, 604 WA F 170,078 181,560 188,024 369, 584




